[image: image1.jpg]my revisivn notes





OCR AS/A2 Critical Thinking

3 Analysis of argument

The answer is b. It is the only proper argument because it provides two reasons supporting a conclusion that is intended to persuade. There is no conclusion indicator but the word ‘therefore’ is implicit. 
a is an explanation of how the washing machine functions. The presence of the conclusion indicator ‘so’ makes it clear that reasoning is taking place, but not necessarily persuasion.

c is not an argument even though there is a persuasive conclusion. The first two sentences are not reasons supporting the conclusion. They consist of an explanation of what gerbils are and an additional, rather random, fact.

d is an explanation. It offers two reasons why AS exams were adopted but there is no conclusion and no attempt to persuade. This could be made into an argument if an opinion-based conclusion were added such as, ‘Therefore the AS system is a great improvement on the previous system’.

PAGE  
Hodder Education © 2012
1

[image: image1.jpg]